SAMPLE QUESTIONS

1. “For every action, there is an equal and
opposite reaction”.

“SINEEENE - FA—EEFNEK
HYSZJE” -

f—
ACTION REACTION

—_—

R
A First law &5 — 3

B.Second law 25 — 7E &

C.Third law &£ =F
D.All of the above L) |- &5

2. This person bought coffee and put it on
the seat next to them. If they stopped
quickly and the coffee spilled which law
would that represent?

EANE T UIGRRAES ERIBEAL | - 21RA
PRSI E TR - PIGERET - AARAYE
PR E 1 2

A.Newton's 1st Law 4-THE—E1E
B.Newton's 2nd Law 4~ — E
C.Newton's 3rd Law Z-1H5E5 = FE /3
D. None of them DJ\_F# R &

3. Photoelectric effect provides the

evidence for the nature of
radiation.

HERERENN__ MHERMETSE -
A.dual #£E B.wave JJ7 &

C.particle firF  D.electromagnetic Z&7z

PHYSICS SUBJECT

Grades 11 - 12 (CATEGORY 2)H£8 5 %5 6 4E4% (47 2)

4. Light of a given wavelength is used to

illuminate the surface of a metal. However,

no photoelectrons are emitted. In order to

cause electrons to be ejected, light of
should be used.

LT RRNECHARBESERE - A
WENRBETFHRN - RTEEFHY B
A.lower energy S {KAE=E

B.higher intensity 56 & 5 =

C.shorter frequency $E#745

D.higher frequency #2355

5. Atomic number of a nucleus is Z and
atomic mass is M. The number of neutrons

IS
FETFENRETFER 2 RTEER M-

HFER
AM-Z
B.M

c.z
D.M+Z

6. Which is the correct sequence of the
scientists who made major changes in the
model of the atom?

B R FER R BRI BRI R 2 IE R
B2 1 ?

1-JJ Thomson 453554 4=

2-Erwin Schrodinger B2 « B T #&

3-John Dalton 448 FLiE

4-Niels Bohr [E FEH 17 H-

5-Ernest Rutherford B PN TR HI IELE

:Z'u: Coakled B
o.\::g“' "'}7)',/ -y

A21,4 3,5

B.3,1,5 4,2

C53,2,1,4

D4,3,2,15
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7. What is the change in atomic mass when
an atom emits alpha radiation?

ERTRHNMEAENE  RTEESR
SRR ?

A.decreases by 4 /) 4

B.decreases by 1 Js/[> 1

C.remains the same {RFF A&

D.increases by 1 #7111

8. What particle is needed to complete this
nuclear reaction?

SERCEER R FERR AT LT 7
1:51 C s 7 -+ _(1) B

A. B.
14 14
C. D.
14 14
7N 5B

9. Magnetic poles that are unlike
and magnetic poles that are alike

FTEOEB - HENSE

A.run; stay Z{T; AN
B.attract; repel AH0k; fH &
C.stay; repel {RFFA~E; fHT
D.repel; attract fH/%; fHIK

10. The Sl unit of magnetic field is
FESHHY SI BB R -

A.weber 14
B.guass =
C.tesla 55Hfrir
D.farad ;27
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11. There are several modern uses of
magnets. Magnets allow high speed trains
to above the track. They
go faster because without touching the
tracks there is no friction to slow them
down.

MEARERAHR - BB ATFEES

EENELET - EfERSER-
RNRARA S EEE - SUL RIS
REMVERE -

A .collide filf:#&
B.levitate )%
C.attract ;5 |
D.repair 4£{Z

12. Two long, parallel wires each carry the
same current I in the same direction. What
Is the total magnetic field at the point P
midway between the wires?

W ERSPATRYRZER 5 H AR [F] 5 [ A4
[FIEEHU - BARTIREPRRHERIS SV ?

f
—_—

- 2

!

A.Zero &

B.Directed into the page & A £ EH &
C.Directed out of the page 5= E H& 4|
D.Directed to the left |5/ /5[]
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13. The figure to the right represents:
aEAE
(Dielectric: T/ V&

Metal Plates: 4/&1K )

Dielectric

: Terminal: 2%

Terminal

Metal Plates
A.Capacitor X =8
B.Diode — fixfe
C.Inductor FEEi &5
D.Resistor Z&[H 73

14. If C is the capacitance in Farads, €
permittivity of the dielectric, A area of
plate overlap in square meters and d
distance between plates in meters, then:
MR ¢ BVAIAEHVES - BAMEH
€ MEEE - DEIPRREAAIRERE
BRALOK R B Ar ey 2 ey d BERE - I

A.C=ed/A
B.C = Aled
C.C=€AN
D.C =d/eA

15. Rate of flow of electric charge is
ERHIREZ

A .electric current &

B.conventional current only g & #1277

C.electronic current only {8 &R

D.potential difference & {77

16. Current in a circuit if resistance of 15 Q
and potential difference of 3.0 V is applied
across it's ends is

IRAE RS M e 15 © KYEFHAT 3.0 v
MBI - BEETHHIER

AlA

B2A

C.05A

D.0.20 A
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17.1 Q is equal to

1QFER
AlVA-2
B.1VA-1
C1lV-1A
D.2VA-1

18. In the diagram below, P is a point near
a negatively charged sphere. Which
direction best represents the direction of
the electric field at point P?

ETES - P A BRI —ER -
WER(E T B RE (R P RERVERS T 7

@.P

A.Right &5
B.Left /£
C.Up A I
D.Down [5]

19. This is an example of a
mirror,

B SREBHIRA o (Principal
focus: F=FERE ; Focal Length: ££JE )

/\\\

—

=

Focal Length

Principal focus

A.Concave [Y]H]
B.Convex 'L H]
C.Plane 3£ 1H]
D.Magnifying 3K
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20. Why does the straw appear to be bent?
RATTERAEB R Z B Y ?

A light is reflected Y454 K7 &F
B.light is absorbed S'¢#%05 Ug
C.light is turned ¢ #55E

D.light is refracted Y4475+

21. What is the energy, in eV, of a photon
that has a wavelength of 620 nm? Write
answer just in numbers.
KRRy 620 nm HEFHIREERS /D
(Llev REfr) ? RARFEREE -

Answer (in number):

EE (B¥F)

22. What is the voltage across the plates of
the capacitor if the capacitance is 10 F and
the Charge stored is 30 C?

Write answer just in numbers.

WREE R 10 F - FEEEVER R 30 C» HI
BEASBR EHERES/D ?
HHABFREX -

Answer (in number):

EE (B¥F)

23. The plates of a parallel-plate capacitor
are 2.50mm apart, and each carries a
charge of magnitude 80.0nC. The plates
are in vacuum. The electric field between
the plates has a magnitude of 4.00x106V/m
in picofarad(pF). Write answer just in
numbers.

AT A SRRV AHEE 2.50mm > 4{E
i 7T 80.0nCHYETT - BN EZEIRRE -
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Wz EHEBAR/NR 4.00x106V/m » s
REE (pF) - R%iﬁ?%@% °

¥

Answer (in number):

EX (BF)

24. Current in a 660 W light bulb when it is
connected to a 330 V power supply is
......... A. Write answer just in numbers.

HEE] 330 V EFIT © 660 W A HHYER
Fyreeeerreeens A DFSREEE o

Answer (in number):

X (BF)

25. A sound wave travels through water at
a speed of 1300m/s for 4 seconds. What
distance does it travel IN meter? Write
answer just in numbers.

ErEr L 1300m/s BB AEK P 4 F) o
BEECKBEMTET ZE ? AHBURE
zo

Answer (in number):

EX (BF)




